CBSE Class 12 Chemistry (For Blind) Compartment Question Paper 2019 (July 2, Set 4- 56(B))
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3777-777&7'7%%97:

(1) @4t 397 7T & |

(ii) 977 37 : Y97 &1 1 @ 5 T 3id Tg-370T I97 & 3R Jed% 397 &
fore 1 37 8 |

(iit) 977 & : 397 G&I1 6 G 12 7% Tg-IF0T Jo7 & 3R J4% F97 & 1o7g
2 37% & |

(iv) Y77 @ : 397 &7 18 T 24 % ¥ TH-3I70T J97 & 31K i J97 &
e 8 37 &

(V) 47T Z : I &1 25 § 27 T FH-FIT Fo & 3R Id% I %
o5 37 &

(Vi) 397 95 § GHY [debeq 787 1397 7397 & | 197 1 v 379 it q1 547 7,
gl 371 Jict g1 Jv91 7, 7 37b1 dict W I H TIT Gre 3l arcd
A7 571 7 fahey 1337 737 & | 08 Gt 591 7 & 3779hl T &7 ldheq
1 IH G & |

(Vii) G SEIIHAT &, T 3T TAFTUHIT TRIVET HIT THd & | dopeicd]
& YT B SFHIA TG B |

General Instructions :

(1) All questions are compulsory.

(i1) Sectiomw A ¢ Q.-no. 1 to &5 are very short answer questions
and coarry 1 mark each.

(itzz) Section B : &. no. 6 to 12 are short answer questions and carry
2 marks each.

(iv) Section C : Q. no. 13 to 24 are also short answer questions
and carry 3 marks each.

(v) Section D : Q. no. 25 to 27 are long answer questions and carry
5 marks each.

(vi) There is no overall choice. However, an internal choice has been
provided in two questions of one mark, two questions of two
marks, four questions of three marks and all the three
questions of five marks weightage. You have to attempt only one
of the choices in such questions.

(vit) Use log tables, if necessary. Use of calculators is not allowed.
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HAT A
SECTION A

1. Wb Jlfieh 1 YF 1 g NEH d& Y hep ATeieh 4@ 8 291 X o
UTHTY] Teh-TgTg 3TSChetehld FRhAT HALATHT hid & ? I

YA

T ik 1 I foilgu [ved a8 Y hep ATeieh SHMAT 8 a4 X’ o
qT] g1-foetd aqswherehr ffrat stenféa d 8 | ]

What 1s the formula of a compound in which the element Y’
forms hcp lattice and atoms of X’ occupy 1/3'd of octahedral
voids ?

OR

Write the formula of the compound 1n which element °Y" forms
hep lattice and atoms of X’ occupy 2/3'4 of tetrahedral voids.

2.  H,PO, hl &ehdT 1 7 ? ]
AT
XeF, <h!-31({Udeh SATHI ShT TH SdTST | I
What is the basicity of HsPOg4 ?
OR

Name the molecular geometry of XeF,.

3. [Fe(CN)gl4 AT [Fe(CN)gl3~ o o Toretadl | 194= T 8 | &= ? I

[Fe(CN)gl4~ and [Fe(CN)gl3~ are of different colours in dilute
solutions. Why ?

4. SIsh A Thea-spreeE Afufshan 98 <at 8 | &= 2 1
Benzoic acid does not give Friedel-Crafts reaction. Why ?
56(B) 3 P.T.O.
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5. et C =1 TERHEsS 91 =1 8 ? 3Hchl HHl ¥ g4 dldl Uesh |/
T ATH SdT8U | i

What 1s the chemical name of vitamin C ? Name one disease
caused by 1ts deficiency.

HAT o
SECTION B

6. b §dIsU : 2

(a) @d AT bl didd bl Hd QGiad & Jgdd 39ehl Ul Tk
ST 2 |

(b) ST YSMICAT TH ST ! ol § 3Us Sl H SIG1 TRHES
Tl & |
(Glve reasons :

(a) = The bottle of liquid ammonia is cooled before opening the
seal.

(b) Aquatic species are more comfortable in cold water than
In warm water.

7.  Th YYH Hife hl ATHThaAT T a7 Toeh 254 x 1072 s 1 9gr=m &7 |

$9eh! dH-T1YT3 3HATY 1 Tiehed hifald |
[feam =1 2 : log 2 = 0-3010] 2

AT

Tsh TUH hife hl AUBRAT 6 50% 0 8H § 30 fide & 1d 8 | 90%
qUl §H H T dTcl 99 1 Gilshatd shITIT |
[feam =1 2 : log 2 = 0-3010] 2

56(B) 4
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Rate constant for a first order reaction has been found to be
2.54 x 10~° s 1. Calculate its three-fourth life.

|Given : log 2 = 0-3010]
OR

A first order reaction takes 30 minutes for 50% completion.
Calculate the time required for 90% completion.

|Given : log 2 = 0-3010]

8. Tifafga wiareel oo d uitfercd yreawem vd qiegur Aregq <hl

‘ZI%T*«IT&IQ . .
(a) UAR
(b) UAT (42)

Identify the dispersed phase and dispersion medium in the

following colloidal solutions :

(a)  Cheese
(b) " Paints

9. fTrafafga &9 =H-= faR[-s™=9ed As,S, Ald % Thed o o
T JHTE B 3T o 2 2

AICl,, KCl, CaCl,

HYAT

<h[{UT ddTsU : 2
(a) TS TIid hicAse! faa= sl TIATRICT JeH Hidl & |
(b) 3G P W IHSI 3K & ATl & |

56(B) 5 P.T.O.
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Which of the following electrolytes 1s most effective for the

coagulation of Asy,Ss sol and why ?

AICl,, KCl, CaCl,

OR

(;1ve reasons :

(a) Brownian movement provides stability to the colloidal
solution.

(b) Leather gets hardened on tanning.

10. f=fciiga wu=awr 8 fru I - 2
(a) dllgeh 3T U daAfcealss
(b) /' UHIEIBA § 2-%ic-sg2H-2-3TeA

How are the following conversions carried out :
(a) Benzoic acid to Benzaldehyde
(b) Acetophenone to 2-Phenyl-Butan-2-ol

11. T=iIRad SgeTehl s Teheleh o AH T HLEHI3T i [TET 2
(a) Hidcieh
(b) AN

Write the names and structures of the monomer of the
following polymers :

(a) Novalac

(b) Buna-N
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12. FHITRId Sgciehl i 31U Sl o HATHR I Ffiehd hHIT 2
(a) TS
(b) 3
(c) UifctargHd
(d) T BHCSIETES

Classify the following polymers on the basis of molecular
forces :

(a) Nylon

(b) Neoprene

(c) Polyvinyls

(d) Urea formaldehyde

T |
SECTION C

13. T% T bee STeieh H fsheeeilchd BT @ | SHohl hITBHI & hi h
TS 400 pm B | e 39 dwd % 250 g § 2-5 x 1024 w0 7,
gcd ol UNeheld shitald | 3

HYAT

Tsh dwd fec Scih H Tshecellshd BIAT @ | 3Hhl hIMBRI & hIL hl
s 400 pm 3 | O 1 O9cd 7 gem™3 8 | 280 g axd H Tohdd

TTATY] 3T & 2 3

56(B) 7 P.T.O.
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14.

15.

56(B)

An element crystallizes in a bcc lattice with cell edge of

400 pm. Calculate the density if 250 g of this element contains

2:5 x 1024 atoms.

OR

An element crystallizes 1n a fcc lattice with cell edge of 400 pm.
The density of the element is 7 g cm—>. How many atoms are

present in 280 g of the element ?

500 g il | TehddT CaCl, (Ao’ g9 111 g mol 1) Tt =fge

foh STcT <RI TeHIeh. 2 K shH 8l ST ? I8 HH wieg fob CaCly, 1 qU
ferieM Bt 8 | Sia & foiw K, = 1-86 K kg mol ™ 3

Calculate the amount of CaCl,, (molar mass 111 g mol~1) which
must be added to 500 g of water to lower its freezing point by
2 K assuming CaCl, 1s completely dissociated. K, for
water = 1:86 K kg mol 1.

fafafiga o T <= STeErR 3 3

(a) 9 U Aol Yo AT H 8 Wfchd el a4 9 89 379 MY
&l STefdm @ |

(b) IfUId TTehSl, T3 hl TAhs! shl oIl H dsil H Sdd! & |
(c) UHGl T a1 AT qHI TIHEI T YIX Fht & TAM d GHI

T o THY H ohig T &l ATl & |
3
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Account for the following :

(a) Oxygen is available in plenty in air, yet fuels do not burn
by themselves at room temperature.

(b) Powdered wood burns faster than a log of wood.

(c) There 1s no difference 1n cooking time between sea level
and higher altitude when a pressure cooker i1s used at

both the places.

16. Freffad g are § St g | S8 # SR | Yo

1 Teh IGIEL01 QI | 3

(a) o 3TTehed Tate

(b) W Toraq fafg

AT

h[{U] ddlsu : o

(a)  FHd [As(CN),]” B Uifcash fieer i wifta s & 5= & Bt
BT B |

(b) UAMHT T WY B TR-3TTEeH & T ShIAARE H Il &hich
A 8 |

(c) Toieh oIS e & TY AUERM &Rl O <dl & Iefh
CryO, a1 |

State briefly the principles involved in the following operations
in metallurgy. Give one example for each.

(a) Van Arkel Method
(b) Froth Floatation Process

OR
56(B) 9 P.T.O.
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(G1ve reasons :

(a) Zinc and not copper is used for the recovery of metallic

silver from complex [Ag(CN),|™.

(b) Alumina 1s dissolved in cryolite for electrolysis instead of

being electrolysed directly.

(c) Zinc oxide can be reduced to metal by heating with

carbon but not Cr,0s.

17. U URHTE! Tdd HIH 3 (A) i AfhT AMAER0 T TH Hid W I 30
ITEY (B) T UaEldd Bl 8 | AWET (A) hl AMUGHAT a1 e
KOH < @1 shia R fadelt T (C) g1 2 fodeh! #et g3 ol A
TY g | FARM b MU H (A) ¥ (D) ST @ |1 Toh TeA-Tq€Ed Bl
qfies (E) <t 8 | A A ¥ E d Jg=1HT | 3

A translucent white waxy solid (A) on heating in an inert
atmosphere is converted to its allotropic form (B). Allotrope (A)
on reaction-with dilute aqueous KOH liberates a highly
poisonous gas (C) having rotten fish smell. With excess of
chlorine (A) forms (D) which hydrolyses to compound (E).
Identify the compounds A to E.

18. fI=fciRgd = feiu ==IT ITErR 3 3

(a) g BNl § A<aciod At rfares Afiyfshamsficl g 8 |
(b) h&T AT YT TSI A TTfharsiiar 3 |
(¢c) NH,¥ BiH, d% 3799 uigd | Jhg gl @ |
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Account for the following :

(a) Interhalogen compounds are more reactive than pure
halogens.

(b) Nitrogen 1s less reactive at room temperature.

(¢) Reducing character increases from NHs to BiHs,.
19. (a) IUPAC 1439 bl 391 o G fIRaT

1) YieREHFANG! et (I1)
(ii) BFETUEH e (I11) To%he

(b) TISHADIT THed FHI ITI-ThUT Thed I ald & ? 2,1

(a) Using IUPAC norms, write the formula of:
(1) Potassiumtetrachlorido nickelate (1I)

(11) Hexaammine cobalt (III) sulphate

(b) Why are tetrahedral complexes always high spin
complexes ?

20. IR o ToIU T ITGHET ® 3
(a) Sy 1 AfTRAT 6 fd e FARIES Tt THiRATS 2 |
(b) Yf&firer fysror gemtismes ffSsha B
(c) BaNUlHl § ffel e Y feufaai w Argel wg <t sufeufa
TIThEE! TeTa 3TTYTshaT <hi STTTshIRMeTal ol @Ml & |

AT

56(B) 11 P.T.O.
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fafeiaa & v = 3oterh 2 2

(a) I FARA T AR I G 2 ThL Wi SHehT SARTEEN
UTH deh TTAEATIA ATHhaT H 3T T T He3reh 99 E & |
(b) TR Begel sl qoT | Ufeshal 2aiss 3= faeme 2 |

(¢) IR 3TiYhHh o ITANT o S THT <hl 37¢9 HTAT bl Wl ST
FT 9T g 2

Account for the following :

(a) Benzyl chloride 1s highly reactive towards Sy1 reaction.

(b) Racemic mixture 1s optically inactive.

(c) ~ The presence of nitro group at ortho/para positions
increases the reactivity of haloarenes towards

nucleophilic substitution reaction.

OR

Account for the following :

(a) Although chlorine i1s an electron withdrawing group, yet
it 1s ortho, para directing 1n electrophilic aromatic

substitution reaction.
(b) Alkyl halides are better solvents than aryl halides.

(c) Why 1s 1t necessary to avoid even traces of moisture

during the use of Grignard’s reagent ?
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21.

22,

Ueh hlEHeh IqMMh (A) hl AHHAT TIA Uehigid H Hid W
FElFdicteh 3FF (B) 99T Jies (C) <al & | (C) o1 A ¢ |
SIA-3TEET A W (B) 991 (D) <dl 8 | (B) I hicIFH TESIFHES
I Jufedrfd § T i W C3HO (B) T 2 | (B) e qdeor F&1 <
8 Sifehd 2,4-DNP & 2114fshan tat 8 | A, B, C, D @ E &l =TT
<l YEATHT | 3

An organic compound (A) on treatment with ethyl alcohol gives
a carboxylic acid (B) and a compound (C). Hydrolysis of (C)
under acidic conditions gives (B) and (D). (B) upon heating
with calcium hydroxide gives (E) CsHgO. (E) does not give
Tollen’s test but reacts with 2,4-DNP. Identify the structures
of A, B, C, D and E.

T UH{EH FAlfin. (A), 5geh1 suga C-H-ON &, d= ol w3
AMTRAT @l gra Torar & | &= sifufshamsti ¥ A 8 E a6
FEATAT sl TGN 3
NaNO, + HCI CH-,CH,OH
CH,ON —ZBO8 | o NH, 2t R PTG

A

CHCl, + KOH KI
\ 4 \4

D E

An aromatic compound (A) of molecular formula C;H-ON

undergoes a series of reactions as shown below. Write the
structures of A to Kl 1n the following reactions :

Bro/KOH NaNOs + HCI CH-.CH-OH
C7H7ON -2 > CGH5NH2 - > B : 2 >

A

CHCl; + KOH KI
\ 4 YV

D |

56(B) 13 P.T.O.
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23. THHAMIRGd 4G shl TRYTVT hiloT - 3
(i) T
(ii)  9IEH <RI Toehe TohTuT
(iii) ~JfFAsTeIES
Define the following terms :
(1) Anomers

(11) Denaturation of protein
(111) Nucleotide

24. (a) §gA g g 2 | sEehl gfcie emdn s seH % fow gem
AT THATRIT ST Hehdl 8 2

(b) 3T 3Tl o o o1 AW &qis€ S UH-UTEl (I gifeiidd) qe
Ju-3mmdl (Y fifea) gM1 YR & Sl o foeqd qu™ i

forrer ot & 3o g % B
(¢) Tyfcafga § 9 sHa @@ gftegs 2 2 3
AT
ﬁmﬁlﬁﬁqﬁaﬁﬁﬂﬁﬁw 3
(a) HId-377a
(b) i
(c) hiIA HYThH

(a) Soap 1s a weak antiseptic. What may be added to soap to
improve 1ts antiseptic action ?

(b) Name the class of drugs used to kill or inhibit a wide
range of Gram positive and Gram negative bacteria.

(c) Which of the following is a food preservative ?
Sodium stearate, Sodium benzoate, Sodium lauryl

sulphate
&collegedunia;
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25.

56(B)

Define the following terms :

(a) Antacids
(b) Antiseptics

(c) Artificial sweeteners

AT 2
SECTION D

(a) Wb ¥ § = 1Yk Bidl 2
2 Fe’*(aq) + 21 (aq) » 2 Fe”* (aq) + Iy (s)

298 KW E°  =0-236V # | #Heh fiest Sl don amenaeen

oo &1 uitehes FifiT | 1 F = 96500 C mol™

(b) | S89 Tl bl IRUTNG hiloT qAT $Heh ATIRO I <hl doa-l H QI
o ferige’| 3+2

YA

(a) 0-1 mol L™ KCI foeiad & W g Ush =cishdl €A hl YfqUd
100 Q ® | afe 3t T &1 gy 0-02 mol L1 KC1 T
YH W 520 Q &1, d 0-02 mol L1 KC] faerz hi =Tetehdl Td
Yol =TeAehdl Fiehicld hIfT | 0-1 mol L1 KCI faerad h

ATeTehdl 1.29 Sm~1 2 |
(b) T T H TS T HUIE T a1 dreil rtfspand fefign | 342

15 P.T.O.
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(a)

(b)

(a)

(b)

The cell in which following reaction occurs :

2 Fe**(aq) + 21 (aq) > 2 Fe”" (aq) + I, (s)
has E° . =0-236 V at 298 K. Calculate the standard

cell
Gibbs energy and the equilibrium  constant.

1 F = 96500 C mol

Define fuel cell and write its two advantages over an
ordinary cell.

OR

Resistance of a conductivity cell filled with 0-1 mol LA
KCI solution 1s 100 Q. If the resistance of the same cell
filled with 0-02 mol L' KCI solution is 520 Q. calculate
the conductivity and  molar conductivity of
0:02 mol L' KCl solution. The conductivity of
0-1 mol L' KCl solution is 1-29 Sm ™.

Write<the anode and cathode reactions that occur in

mercury cell.

26. T o TR oI ITER & 5

(a)
(b)
(c)

(d)

(e)

56(B)

Fe2+ bl B Mn2+ <6l BB 9 0 gl 2 |

ShITTH Teh T&H! Shall &Tq & STelfeh Hohdl gd & |
yed fofiie ot 3ufeafd # Co (II) A& & SAieichd &l 1T @ |

KMnO, 3999 § HCI 1 3931 39T 4l & |
K,Cry0- o d Tae™q ° HoyS o JdTg € ™™ A1dT 2 |

HUAT
16
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56(B)

(a) THIIREd § ¥ TohHeh A ToeTad Wi gH1 991 /=41 2

Ti3+, V3+’ Cut, SC3+, Mn2+, Fe3+, Co2+

(b) fTr=AfaRga stfufsrameti & fou wqfea emafies  eafufsramd
ferfgu -

(i) MnO, + H'+S* >
(ii) MnO, + H' + Fe** > 3+2

Account for the following :
(a) The radius of Fe?* is less than that of Mn?4t.

(b) Chromium i1s a typical hard metal while mercury is
liquad.

(c) ~Co (II) 1s easily oxidized in the presence of strong ligand.

(d) = It1s not advisable to use HCl in KMnO, titrations.

(e) When H,S 1s passed through a dilute solution of
KyCr,0-, milkiness appears.

OR

(a) Predict which of the following will be coloured 1in aqueous
solution and why ?

Ti3+, V3+, Cut, ch+, Mn2+, F63+, Cot

(b)  Write the balanced i1onic equations for the following

reactions :
(i) MnO, + H"+S* >
(ii) MnO, + H' + Fe** >

17 P.T.O.

@
&collegedunla;
India’s largest Student Review Platform

—



27,

56(B)

(a)

(b)

(c)

(a)

(b)

(a)

(b)

HHAfIRad ®UT=A0T hd Ul

(i) SHIA ¥ Ziefe

(ii) UIATA °d 4

HfciRad ANeh AT bl fa¥icd s o ol TERHE gheqo
IS

i) AAATA qAT TAATA

(il) p-HIYA BHETA qAT HATFET SIS

OH

|
CH, =CH- CH-CH, - CH, &% IUPAC AW feifgq | 5

YA

QW-IETF” <hl H’Iﬁ Fl(qu!i$ 3FA <hl Iutefd ﬁ iEIGiFiIWQUI <l
fepanfafer forfau |

h[{UT ddlsU
Q) “HHEIA H C — O Y UIAATA <hl I BIeT BT @ |

(ii) U 1 FGYAh FHeh TGS HATF] AT hl o1 H
3 Bl & | 3+2

How are the following conversions carried out :
(1) Phenol to Toluene
(1) Ethanol to Methane

Give chemical tests to distinguish between the following
pairs of compounds :

(1) Methanol and Ethanol
(11) p-Methyl phenol and Methoxy benzene
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56(B)

(c)

(a)

(b)

Write IJUPAC name of

OH

|
CH, = CH - CH - CH,, - CH,

OR

Write mechanism for the dehydration of alcohols 1in the
presence of concentrated sulphuric acid.

(;1ve reasons :

(1) C-0O bond 1s much shorter in phenol than in
ethanol.

(1) Boiling point of ethanol 1s higher in comparison to
methoxy methane which is an 1somer of ethanol.

19
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